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=h 6301010000902 |[FF kbR |0101028-FF MK = X — % X E 2 | 58.50
Zgede (6301010001703 [P T H3kAb X |0101028-75 F W m A K = L —HK XL & 2 | 56.50
M 6301020006227 | TFEMALK |0101028-FF R AR = X — % H E 2 | 53.70
Dgzd 6301010000612 |FFwmAb X [0101028-F T HMAK = X — % L E 2 | 53.40
BEEA (6301010001810 |F a3k X [0101028-HFHMAR = % —#h X E 2 | 52.50
X|FEA (6301010002603 [FTFHHALK [0101028-F T3 K = X —h L& 2 | 47.80
A 6301020005715 | A IRALK [0101029-7 7 A R = X —HK IR 2 | 59.90
x| % 6301020006012 [FT ALK [0101029-F F R K = X —# K 2 | 55.70
EAMA (6301010004812 |FF ALK |0101029-7 F AR = L — % LK 2| 54.90
o 6301020005208 | T ALK [0101029- 7 H3k ALK = X —Hk LK 2| 54.90
BiEHE (6301010003728 | FHMALE [0101029-F F b K = X — LK 2 | 53.60
BRI 6301020005510 [FTH3ALE [0101029-F F ALK = X —# K 2 | 53.30
#XHE (6301010002430 | FHHALK |0101030-FFHHA R = L —4 2 /KL (1) 1 53.50
w35k 6301010004804 |F T H3ALKX [0101030-F T H#H ALK = X —4 2 MR (1) 1| 51.50
x| #, 6301010001504 [FFHIRALE [0101030-FF T WAL X =% —#H 2 AR (1) 1 50. 30
JE& R 6301020006214 |F T HIRALK [0101032-F 7 wdmdl K = X —HME R FE H 1 65.70
WWEAE 6301010003210 [P HIKALE |0101032-F F kb X = L — kAR YR 4 3 1 50. 40
T 6301020005521 [FFHIRALE [0101032-F FHIKIK = X —HAAER R E 1 | 49.60
BT (6301020005207 [EFHHAK [0101033-FF MK = % —3 S HARF| G5 1 | 57.80
B&M (6301010004117 [F T H3KALIE (01010337 7 WAk K = 5 — 4k & AR & 2 1| 57.40
o 6301010003812 |[AWSHMALE [0101033-FFwb R = ¥ — 3 £ kA& 5 1 | 56.40
FTh# (6301010000714 [T HIKALE |0101034-FHFHFHAR = X —%k L # (1) 2 | 56.00
MER 6301010002902 |FATHHALR [0101034-BHFFHAR =L —8LH (1) 2 55. 60
Fh—l (6301020006823 |FTHIKALKE |0101034-FFHHAR = X —%k L #H (1) 2| 49.70
Ang R (6301010003830 |AEF ALK |0101034-F TR = X —4 % (1) 2 43.60
EEH (6301010003814 [T HIMALK [0101034-F T HIKAK = X —H X #H (1) 2| 42,00
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JE 6301020006512 [FETHFALK [0101036-F FHMAR = X —kAFE 5k foit &R & 10 | 64.90




HFER (6301010000419 |FFH3kALE [0101036-F 7 Wik Ak K = % — e A3k 3k b foih 47 [ 10 | 62.30
HEEE (6301010002711 [FFHALE [0101036-78 T HikAb K = 3 —He A3k b Ak SR [E 10 | 62.00
RMEE 6301020006605 |FTFHHAK [0101036-F T HIMALRK = X — kA FE gtk frt AR 10 | 60.60
BTE 6301010005011 |FFAIRAIK |0101036-78 F Wb X = % — kA S5t fo ik A7 10 | 59.30
3] 6301020006126 [P ALK |0101036-78 F b K = 3 — KA Fh st b Ak (R 10 | 59.10
EH A (6301010001224 |FFHIRALIK |0101036-78 F Wb X = % — kA S5t b ok A (R 10 | 58.40
B E 6301020005628 |FE T HIKALX 01010367 T db X = X — kA E 5 Wb fork SR [ 10 | 58.20
BAE 6301010004628 |FFHIRALIX |0101036-78 F WL X = % — kA St ok AR 10 | 58.00
WA 6301010001014 |Fg T HAL X [0101036-7 F H3k b X = 3 — kA FE 5k W Fogk 2R 5 10 | 57.80
K 6301010001220 |FFHHALK [0101036-F T oL X = % — 3k A FE s b foid &R & 10 | 57.80
| EH (6301010003614 [P T A 3KALK [0101036-7 T Ak K = 3 — kA3t 3k b fndt 2 (R % 10 | 57.70
K4 6301010003325 |FTHMALK [0101036-7 7 H3k AL K = % — kA L3k fuit {5 & 10 | 57.60
B fE 6301010003401 [T amALR [0101036-7 5 dm AL K = % — kA 3t 5tk Ak &R & 10 | 57.60
FERAF (6301010001413 |FEFAIRALIK |0101036-78 F Wb X = % — kA St b ok AR 10 | 57.50
i (6301010002503 | F A4 ALIX 010103675 F dk AL X = 5 — 4k A 3k 3k b foid (R [ 10 | 57.10
WakdE 6301010002117 |FFHIMALK [0101036-T F Rk db K = % —H At xf A foik A7 10 | 56.90
H—JL 6301010002201 |FEFHHAK [0101036-F T ALK = X — kA FE gtk foit AR 10 | 56.70
£E8 6301010004529 |FFAMAK [0101036-F 7 H ALK = F — 4 A FE sl foidk &R & 10 | 56.20
A0 (6301010002301 | T AKX |0101036-75 FH3fdb K = 57 — 4k At b ot & (R [ 10 | 55.20
s 6301010003415 [T HFMAK [0101036-FF MR = X —kAFE sk foit &R & 10 | 54.80
FHR (6301020006014 |7 H3KALK |0101036-7 F H Ak K = % — 4k A 35k b fotk (R 1 10 | 54.70
EERE (6301010000710 |FHFHMALK [0101036-F T il db X = % — 3k A FE st foidk &R & 10 | 54.60
BRI 6301010004224 |F T HRALK |0101036-7 T WA K = & — 4k A F 5k b fodk (R 1 10 | 54.50
X FE (6301010002216 [T TR [0101036-78 T dikAb K = 3 —He A3k b Ak (R [E 10 | 54.40
KEME 6301010003002 |FFHIKALK [0101036-F 7 Wik Ak K = % — e A3k 3k b foih 47 [ 10 | 54.30
KR 6301010001712 |FFHHALK [0101036-F F oL X = % — 3 A FEsb b foid &R & 10 | 53.50
A% (6301020006614 |F T AHKALIK [0101036-7 T Ak ALK = 3 — kAL 5k W foak 2R E 10 | 53.50
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EE 6301010001116 |F T H3M AKX |0101040-75 T HH ¥ K = X —4 L% (2) 1 | 48.80
¥AE (6301010002828 |FTWIHAX [0101041-FTHIMAR = X —H LK 1 55. 80
ROCE (6301020006321 [P HIRE X |0101041-F F HIM K = X — KK 1| 55.20
Zeii2t 6301010005103 |F T HIKAER [0101041-FTHMAE R = X —% LK 1 54.50
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FA 6301010000130 |FEFHIHARX [0101043-F T TIMBERX = % — 3% 2 B AF| & 5 1 59.90
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K 6301020005819 | T HMAE X [0101044-7 T W3k X = ¥ — kAR B YR 4 72 1 | 54.10
BEF 6301010001318 |[ETHHMERX [0101044-FFHIKPAR = X — AR FE K IFE 1 50.70
#HE 6301010003811 |F T HMAE X [0101044-7 T 3K X = ¥ — kAR B YR 4 72 1 | 50.70
JEA (6301010001315 |FFH3KA R [0101046-F T HMAR =X —%kLE (2) 1 | 57.10
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WEXH 6301010004513 | T HIMARX [0101037-F FHm A XK = X —H Atk v ot oK E (1) 9 66. 30
ZBW (6301010002624 [FTHIMAR |0101037-F T M A K = X — KAk ik 2R (1) 9 | 61.90
JE 4 6301010003111 | HFIMAERX [0101037-F T W3 A K = L — A ak b furk 4R EE (1) 9 | 60.60
ZHE (6301010000602 [FFHIRTE [0101037-F FHMAR = X —HK AL b ok 2RE (1) 9 | 60.30
ZFM |6301010005027 | WIRFEX [0101037-F F WA K = X —H A g b foik &R FE (1) 9 60.10
REE 6301010004618 |FTFHIMAIX |0101037-5 T W T K = X —h A5 ot 2R (1) 9 | 59.60
A 6301010002019 |PET AR [0101037-F T HMA X = X —®kAE sk fok 20k E (D 9 59.50
FTHA 6301010002903 [T HMEARX [0101037-F FHIKA R = X —th A gt b At 2R E (1) 9 | 59.00
FHE 6301010004710 | HIRFEX [0101037-F F WA K = X —H A ah b fosk &R FE (1) 9 58.90
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WEH 6301010000409 |FTFHIMARX |0101037-F5 T WA K = X —h A5 ot 2R (1) 9 | 58.00
WEE 6301010002717 |HETHIRFAX [0101037-F F WA K = X —H AL e b fosk oK FE (1) 9 58.00
A EE (6301020006620 [T T AR [0101037-F THIKE R = X —th A gt b At 2R E (1) 9 | 57.90
K 6301010001112 |PEF AR [0101037-F 7 HM A X = X — kA E sk fok 207 E (D 9 57.50
R 6301020006030 |7 M P X |0101037-7 T 3 # X = 3 — 3k F gtk Aotk 2R 1E (1) 9 | 56.80
KEME  [6301010004215 [FETHIHAERX [0101037-FFHIMAE X = X —k A Em b ot 25K E (1D 9 56. 60
Ly 6301010003712 |FETHIHAR |0101037-F F W3R K = L — A st b fusk 2R [E (1) 9 | 55.70
g (6301010001826 |FETHIKAEX |0101037-F T3 A X = L —H A5 fotk 2K (1D 9 55.50
FEE 6301010000509 |FETHIMEA X [0101037-F FHINAE R = L —th A gt b At AR E (1) 9 | 55.40
% &% 6301020006704 |FHTHIMAX [0101037-F FHm A XK = X —H Atk v ot o7 E (1) 9 55.00
ABe4E (6301010003923 |FEFHIKAR [0101037- TR T K = X — A5tk it &R (1) 9 | 54.60
FAE (6301010000625 |FFFHARX [0101037-F T HIKFER = % — Ak o 245 (D 9 | 54.40
A EH (6301010001212 (AT HMAR [0101037-F THIKE R = X —th A gt b At 2R E (1) 9 | 53.30
WA 6301010003510 |HFHMAR |0101037-FFHMAE R = X —H AL L ok 2FE 1) 9 | 52.90
REZ (6301010000906 |FTHMAR [0101037-F THIKTE R = X —th A gt b At 2R E (1) 9 | 52.60
fREH (6301010003221 [FEFHMAERX [0101037T-FH T HIMAERX = X —h A £ LAt 27 E (1) 9 | 52.50
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SR (6301010000217 |HF A AR [0101051-F TR T K = X — 4k 4 AR % 10 | 66.20
T 6301010003030 |F W3+ X [0101051-F T Hm K = ¥ —3k £ AR % 10 | 63.40
SEHEHE 6301010005102 [P THIHE R [0101051-F T3 K = X —k £ AR % 10 | 59.90
E- 6301010001919 |FEF R R [0101051-F T oW +E K = % —3# 2 Atk 10 | 58.90
D3R 6301010004508 |F 7 K [0101051-F T H + K = X — 4k £ TR % 10 | 58.80
o 6301010004908 |FEF a3 X [0101051-F T oW +E K = % —3# 2 Atk 10 | 58.80
FRF (6301010000729 [T HEH AR |0101051-FF T K =X —4k 2 AR % 10 | 58.30
FILE 6301010004310 [T A AE KX [0101051-F F s H K = X — 2 43R 2 10 | 57.60
LT 6301020006820 |FF A E K [0101051-F T W F K = X — 4k £ ATIR % 10 | 57.40
K172 (6301010000604 |FE s X |0101051-F5 F il F X = % — 3k £ AH4R 32 10 | 56.20
XM (6301010004302 [F TP R [0101051-7 7 H3k F K = % —k & KR % 10 | 56.10
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W B 6301020005522 |FE T H3F X |0101051-F8 T P K = ¥ — 4k 2 MR ¥ 10 | 53.00
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# % (6301010002820 |HSTHMAER |0101047-FFHHAER = ¥ —H 4 A4 3 | 55.90
I% 6301010001619 |F T HIKFEX |0101047-F T HMA R = ¥ —HkAEABE 3| 55.70
BITH 6301010000228 |[FFHHTTX [0101047-F TR E K = X —# A A B E 3 | 55.10
W fE 6301010001719 |FEFHIMAR [0101047- T T FWAR =X —H A SBE 3| 54.20
X 6301010002709 |FEFHHARX [0101047- BT HHARXR =X — %A XBE 3 | 49.80
T (6301020005304 |WF AR |0101048-THFHIMF R = % —H L& 2 64. 00
A Fg 6301010004307 |FFFHFR [0101048-FFHMER =% —H % % 2 58.20
LugE 6301010004410 [T HHF R |0101048-F T3+ R = L —H X H 2 | 55.40
S 6301020005729 |FFHMF R [0101048-FFHsk K = % —H ¥ % 2 | 54.60
Yt 6301010002202 [T HHKAER |0101048-FHFHH PR = ¥ —H ¥ % 2 | 50.90
& 6301010005008 |FFFHFR [0101048-FFHIMER =% —H ¥ % 2 50.90
MR (6301010003624 [FTFHMAF R [0101049-FFHIk T R =% —H X E 1| 53.10
MR (6301020005703 [T RHE X |0101050-F F Wl K = X —#% XK 1 | 59.40
Bk 6301010001617 |[FWFHHKAER |0101050-FFHHEF R = ¥ —H T K 1 51.70




AeyE 6301010002016 [P HE X [0101053-7 7 Hi3 X = 30 — kAR B K JE 44 72 1| 44.20
e (6301010004703 |FEFHIMER [0101055-F TR H K = % — Ak fok A RE (2) 3 | 60.30
B L 6301010000407 |FFHM A X [0101055-F TR F K = X —h st b 2% (2) 3| 56.20
F XA 6301020005604 |FET W R |0101055-F T WM R = X — At foik 2R (2) 3 | 55.00
K i 6301010001308 |FF W4 # X [0101055-7F 7" Wk o X = L — kA g b Antk 2R E (2) 3| 54.30
BEL 6301020005518 |[FHF MR [0101055-FHF WM+ R =X —Haftm bt ofE (2) 3| 53.40
FF L 6301010000303 |FHFHFMF X [0101055-F FHmF K = X —h st b %% (2) 3| 51.20
w Jih 6301010001410 |FETH3F X [0101055-F T3l K = L —4k A b gk b fodk 2R E (2) 3 | 49.80
AR F (6301020006322 [T AIKE X |0101055-F F M K = % — At st b sk &R E (2) 3| 49.20
B 6301010003118 |FEFHIA X [0101056-TF T3l F X = X —k Ak b fodt 2R E (3) 1 63.70
EE 6301010004314 | FF A+ X 01010567 " Wk o X = L — kA g b Antk 2R E (3) 1| 40.10
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EX ) 6301010000304 |FETFHIA X [0101054-F T F X = X —kAn gk b fodt 2R E (1) 2 | 66.90
& 6301020005908 [P F W4 X [0101054-78 7" Wk o X = L — kA E g b Angk 2R E (1) 2 | 66.90
B &% 6301010002908 [FET AR [0101054-F T F K = L —h At gt b ot 2R E (1) 2 | 49.00
R 6301010005026 |FFHIXARX [0101057-BHFWMAR =L —%#H (1) 2 | 60.90
X\ (6301020005223 (AT HIMAR [0101057-FTHMAR =X —h %% (1) 2 | 53.90
T¥E (6301010002804 |FTHIARE |0101057-FFHMAR = X —%k L& (1) 2 | 52.60
FHET 6301010005116 |FTHIMAR [01010S7T-FTHIMAR = X —h L H (1) 2 | 51,30
BER 6301010003207 [FETHIMAR [0101057-FTHIKAR =X —+%h %% (1) 2 | 51,20
TR (6301010001608 |FTHIKAR |0101057-FFHMAR = X —% L #H (1) 2 | 50.80
BEEA 6301010001309 |FFHIMAR [0101058-FTHIMAR = X —hxH (2) 1| 49.00
BAH (6301010001508 [P T HIKAR |0101058-F FHMAR = X —%k L # (2) 1| 47.80
HifE (6301020005714 [P T HIRAK |0101059-FF WM AKX = X —HK L E 1| 52.80
LA 6301010004816 [P0 T R A KX [0101060-7 F i3k & X = 3 —HhAH| 4 1| 49.10
A (6301010004510 [T HIMAR |0101061-F T3 A K = X —k £ AR % 3| 63.60
LM 6301010001628 |FaTHIMA KX |0101061-F5 F W3l AR K = X —+k 2 AT #k % 3| 59.80
L#F 6301010003713 |ETHIMAR |0101061-F T H A K = X —3% & AR 3| 58.60
% 6301010003322 | HIMAR |0101061-F T T A K = ¥ —3k £ AR % 3| 58.30
FANJL |6301010004725 [T HIHMA R |0101061-F T3 A K = X —k £ AR % 3| 57.80
FTE 6301010002122 |FETHIKAR |0101061-F T WA K = X —3% £ AR % 3| 57.00
AL (6301010004519 [FFHIKAR [0101061-F8 FHIHAR = X —# & AT iRk % 3| 54.10




LE#A 6301010002527 |ETHIMAR |0101061-F T H M A K = X —3% & AR 3| 51.30
DT 6301020006507 |FTWIAR [0101062-F T WM A K = X —HK K 2 | 58.60
BrH 6301010001417 [FETHIRAK |0101062-F T H4k R K = L —H% IR 2 | 57.90
Farg 6301010003927 [FFHIMAK [0101062-F F Wik AKX = X —Hh K 2 | 56.30
Tpide 6301020006514 AT HIRAK |0101062-F T H 4k R K = L — 4 R 2 | 55.50
o 6301010001520 |FEFHIMAR [0101062-F T FIMAR = % —H T K 2 | 54.40
X EF 6301010002724 |FTHIMAK (01010627 T W3 A K = F —Hk F K 2 | 51,30
LEjE 6301010004011 |[FETHMAR |0101064-F FHIM AR = L —Hh At b ot 2R E (2) 1 | 50.70
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LS 6301020005723 |FTWIAK [0101063-F 7 WM A K = X — KAt b fodk 2R (1) 10 | 68.90
hEZ (6301010001728 [T RIAK |0101063-FF WM AR = X — A3 b fodk 2R (1) 10 | 64.50
D4grt 6301010001928 |FF HIRA K |0101063-F F FM AKX = % — a3t st b forb &R E (1) 10 | 62.70
LFTE 6301010004708 [T HIMAK [0101063-FF ik AR = X — A Est LAk 2% E (1) 10 | 62.60
LHF 6301010001909 |FETFHMAR [0101063-FF IR AR = L —h A st WAk 2% E (1) 10 | 62.50
Pakak 6301020005718 |FTHIMAK |0101063-F8 7 WM A K = X —Fh A E st b fodk 248 (1) 10 | 62.40
LS 6301010005121 |FTWIAK [0101063-F 7 WM A K = X — KAt b foik 2R (1) 10 | 60.60
FETH 6301020005314 |FFHIHMAK [0101063-FF AN AR = L — A Esk LAt 2% E (1) 10 | 59.80
24 6301010004120 |FTWIAK [0101063-F 7 WM A K = X —FK At b fodk 2R (1) 10 | 59.60
B %% (6301010000712 |[FEFHMAKX [0101063-F T WM AR = % — A Es LAt oFE (1) 10 | 59.10
FEE 6301010004214 |[FEFHMARX [0101063-FHF TR AR = L —H A FEat WAk 2FE (1) 10 | 59.00
AW 6301010002925 |FTHIMAKR [0101063-F0F WM A K = X —Fh A3t st fodk 248 (1) 10 | 58.80
VAT 6301020006119 |FTWIAK [0101063-F 7 WM A K = X — KAt b fodk 2R (1) 10 | 58.80
FEE 6301010000424 |FHTHIMAKR |0101063-F0 5 WM A K = X —Fh A 3Eb b fodk 248 (1) 10 | 58.70
X & 6301010004905 |FETHMAKR [0101063-F F M A K = ¥ —h At st fodk &FE (1) 10 | 58.50
2 6301020005519 |FHTWHAK |0101063-F0 7 WM A K = X — KA m b fotk 20k (1) 10 | 58.40
12951 6301010002319 |FTHWIAK [0101063-F 7 WM A K = X —FK At b foik 2R (1) 10 | 57.50
Hi 6301010004517 |FHTWHAK [0101063-TF 7 WM A K = X — KAt b fotk 24k (1) 10 | 57.40
iy 6301010002916 |FTWIAK [0101063-F 7 WM A K = X — KAt b fodk 2R (1) 10 | 57.10
Z 6301010002526 |FHTWHAK [0101063-TF0 7 Wi A K = X — KAt b fotk 20k (1) 10 | 56.20
ok 6301010003019 |FTWIAK [0101063-F 7 WM A K = X — KAt b fodk 2R (1) 10 | 55.70
FH 6301020005415 |FTWILAKR 0101063~ 7 WIm A K = X — KAt b fotk 24/ (1) 10 | 55.70
EHIE 6301010003320 |[FEFHMAR [0101063-FHF IR AR = L —H A st WAk 2FE (1) 10 | 55.40




B (6301010004623 [FETHIKAR (01010637 W3k A& X = 3 — kAL gk b Auik &7 E (1) 10 | 55.30
HutF (6301010004208 |HTHIMAR [0101063-7 7 A K = ¥ — kAt fotk 2R (1) 10 | 55.00
AKFFEEME (6301010000822 | T HMARX [0101063-FF IR AR = L — A st WAk 2FE (1) 10 | 54.50
ZN#E |6301010004730 [T HIMAK [0101063-FF kAR = L — A Est LAk 2% E (1) 10 | 54.40
& 6301020006819 |FT W AK [0101063-F 7 WM A K = X — KA E st b fodk 2R (1) 10 | 54.10
L3 (6301020006305 [P RIAK |0101063-TF WM AR = X — A3 b fodk 2R (1) 10 | 54.00




